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SA-EFH - SA(SAH) - MREAY - BES Off &F OH I8N BlusZ
SIS MR = 1,236,410 1,238,450 2,040
Agos 24 X& 981,554 995,594 A 14,040
°|32F e e 228,012 242,052 A 14,040
2EE JAR2E K& 137,116 151,156 A14,040
101 el 24l 12,266 17,766 A5,500
10 JIZHMIZ2XsE = 12,266 17,766 25,500
o4 2e(1Y) 7,316 12,816 /5,500
201 LEt= | 46,650 55,190 A8,540
03 A2 HI 0 8,540 /8,540
Od= ANZs oA MSU2(HAZ) 0 8,540 A8,540
HH2EZHI (S AIR=Z) 254,856 242,856 12,000
QI 2 75,386 63,386 12,000
eI 2| 75,386 63,386 12,000
101 Q14| 64,086 52,086 12,000
09 RIIHAZZTE = 64,086 52,086 12,000
ORINHANMEBRH(EHRLHA) o122 12,000 0 12,000




